THSEE EREAORIREREEFOZERANFHIAY—ER

1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 53,326 =
FE R 37,862 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 69,357 =

(2) &

AN (NTBERH LS (ZDH)) 1,096 =
AR (AITERH LN (EE)) 1,444 =
N (ANIEHRH) 6,318 =
AR 851 =
INRF 1,126 =
AEs 1,119 =
B oEl 912 =
LR 225 =
A PR 25 1 718 =
EEIR AR 1,916 =
AR% 1,070 =
H 5 IRAWER 197 =
2 ®\H 1,268 =

3 EB 1,206 =




THSEE ERENORIREREFOZHERANFEHRIYB—ER

1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 52,787 =
FE R 39,952 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 67,093 =

(2) &

AN (NTBERH LS (ZDH)) 1,162 =
AR (AITERH LN (EE)) 1,326 =
N (ANIEHRH) 6,810 =
AR 3,058 =
INRF 969 =
AEs 1,528 =
B oEl 1,037 =
LR 294 =
A PR 25 1 7136 =
EEIR AR 1,949 =
AR% 943 =
H 5 IRAWER 746 =
2 ®\H 1,233 =

3 EB 1,192 =
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1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 53,723 =
FE R 43451 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 713,840 =

(2) &

AN (NTBERH LS (ZDH)) 1,230 =
AR (AITERH LN (EE)) 1,283 =
N (ANIEHRH) 2,823 =
AR 986 =
INRF 1,321 =
AEs 1,278 =
B oEl 1,183 =
LR 616 =
A PR 25 1 956 =
EEIR AR 1,489 =
AR% 991 =
H 5 IRAWER 901 =
2 ®\H 1,365 =

3 EB 966 =




THSEE LERNORREREEFOZERANFHRIB—ER

1 ER (LETR 5 T=Y DTS %)
(1) Jmke
— A& JE R 56,386 =
FE R 41678 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 710,242 =

(2) &

AN (NTBERH LS (ZDH)) 1,298 =
AR (AITERH LN (EE)) 1,526 =
N (ANIEHRH) 10,315 =
AR 1,232 =
INRF 1,308 =
AEs 1,931 =
B oEl 1,292 =
LR 7133 =
A PR 25 1 2039 =
EEIR AR 1,289 =
AR% 1,116 =
H 5 IRAWER 788 =
2 ®\H 1,363 =

3 EB 1,109 =
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1 ER (LETM HHT-Y DS
(1) mkE
— % B 93472 =
Hh 38976 =

B PR FHME 15 T fm b - KMt R b - 45 T i e Jm e 68,936 =

(2) &

AN (NTBERH LS (ZDH)) 1,256 =
AR (AITERH LN (EE)) 1,493 =
N (ANIEHRH) 4400 =
AR 1,350 =
INRF 1,457 =
AEs 1,251 =
B oEl 1,227 =
LR 603 =
A PR 25 1 1,001 =
EEIR AR 1,194 =
AR% 961 =
H 5 IRAWER 799 =
2 ®\H 1,282 =

3 EB 1,066 =
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